
The Pythagorean

Theorem Project
Task: Create a real-world problem that can be solved using the Pythagorean theorem. 
1. Draw a picture to describe your scenario  – 10 points
2. Write a word problem for your scenario – 10 points
3. Write the Pythagorean theorem on your project – 10 points
4. Use the Pythagorean theorem to evaluate your word problem  – 60 points
5. Decorate/color your final project – 10 points



Example of Student
Work



The Pythagorean

Theorem

Unit 6



what is a right angle? 
hypotenuse

right angle leg

leg A right triangle is a type of triangle that has
one angle equal to 90 degrees. The side
opposite of the right angle is called
hypotenuse. The other two sides, which form
the right angle, are called the legs of the
triangle. 



In a right triangle, the Pythagorean theorem applies,
stating that the square of the length of the
hypotenuse is equal to the sum of the squares of
the lengths of the other two sides. This relationship
is fundamental in solving problems involving right
triangles.



It is a fundamental principle in geometry that relates to the sides of
a right triangle. It states that in a right triangle, the square of the
length of the hypotenuse is equal to the sum of the squares of the
lengths of the other two sides. It can be written as: 

the pythagorean theorem



who discovered this theorem? 

Pythagoras was an ancient Greek philosopher and mathematician, born
around 570 BCE on the island of Samos in the eastern Aegean Sea.
Pythagoras founded a religious and philosophical school in Croton

(now Crotone) in southern Italy, known as the Pythagorean school.
Pythagoras and his followers made significant contributions to

mathematics, including discoveries in geometry, arithmetic, and number
theory.



c =     169

example 1
Find the missing value: a = 5 b = 12

a² + b² = c²

c = ?

5² + 12² = c²

25 + 144 = c²

169 = c² c² = 169or

c = 13Answer:



b =     144

example 2
Find the missing value: a = 9 b = ?

a² + b² = c²

c = 15

9² + b² = 15²
81 + b² = 225

144= b² b² = 144or

b = 12Answer:

b² = 225 - 81



a =     64

example 3
Find the missing value: a = ? b = 6

a² + b² = c²

c = 10

a² + 6² = 10²
a² + 36 = 100

640= a² a² = 64or

a = 8Answer:

a² = 100 - 36



converse of the pythagorean theorem

 If the square of the length of the longest side of a triangle is equal to the sum of the squares
of the other two sides, then the triangle is a right triangle.

First, we determine which side would be the hypotenuse. Then,
we use the values into the Pythagorean Theorem.



let’s try!

a² + b² = c²

15² + 36² = 39²

225 + 1296 = 1521

1521 = 1521

IT’S A RIGHT TRIANGLE!


